
 ������ 

�	
��
� ��� �	����� 

 ������ ����� ����� ������ 

 ����
� :��	��	�    �����
�  :!
�"�  �
��#� ��$      : ���%�� 

 

��"� ��&�
�: 

 
����
    – �	�'� ��	���
� �� �( ��	) ���*:+ 

)-(�  �       )/(  � �  
 
 

)� (� �     )0 (� �   
 

 �+ 1	�� ��( ��2 ��  � � �   3���	 -45 6� �  )� �  = (89° 5   

�   )� �  = (��°  :;�* ���1* ���<=� � � ��  

 

!���
� ��&�
�: 

����
 � � 	) = س( إذا آ��� د –    

 +	 �  + �   � �	>�
� �
�� ���<=)
 ( �� ? �	>�� ����%� 

 !
2� +  
 .  � ���( ��2�)� = (0 � 5  )!�

�	 ا�����١ ��#  ) = �� 
  ��� ��  ��و�
 
� _ �* �
�*       = ? �1 
 

 
 

� �  C ���( ��2=     �    � ) =	
 +     (  ° ���*  ��         : ����% =- 
 
 
 
 
 

?+� +/?+/+- 
?+0 +4?+4+/ 

 )?/ –�( 4 + - 
? + / 

 ? +] 	    + 8 
 ?+ 0  ?

  
�
  ]	  ��� 

		  

 �� )?+ C + ( �� ) ?– C ( 

 ��� )?+ C + ( ��� ) ?– C ( 

 ? +0 
 ?+ � 

١ 

 � � ع
� � 



F
��
� ��&�
�: 

����
    – � ���( ��2)?= (   � ��(�   )G= (-� 5 )G(� =-  �	�
��
� !��	) ���<= 

���  �
��
� H��
 ?���
� �
���� ���* 6� . 
    

�+ ��  � � �  : ��
 ���  =         =        

 �� �� ������ : �� �  : ���  = � : � : � 
 

I
��
� ��&�
�: 

����
    –  C �
��
� !���� !�% 1J�
� ���* =/?� – ?  +� �K��% ?���
� ��(	 !�
�� 

 6	J���
� !�% L�	���%4 C=- – ?  

����----
  ��� ���( ��2� =�  #��  F	� ��  � � 
 � � � �� � =  %�
� �  1 F	���  �� / ���<= 1

 �� �� �( ��	) �
���
� �
'� 6��M��� ���
 )�  + �  (  �1 5 )� + �  ( 

?/  +�� +�  
?/ – ?  +/ 

��   +��   + ��   

� 

��   +��   + ��   

9 

��   +��   + �� 

4 


